Find the interval of Convergence and the function that represents the

series
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CALCULUS: 6raphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy

Chapter 9:

Convergence of Series

'ﬁ tonvergence
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What you'll Learn About
Testing Endpoints for Convergece

3 y
-3 X~ 1 —_—
'?.’21' :
\ g 2
A :

{—n“\‘?{ O divafes

n 1
_Q; . \(:'iﬁ“ﬂ (3*‘&“-1 n‘L \: M - \3)\4\&[

-

blo $he seried alleinn

2 Rt decrrase bt boht—

n=o n=0
X;J% . A o )n ﬂ " (l
P4\l 4 1
Vi (3) (E) "Z; ( n>p0
n=g p=0
1 3\‘_]1 | 5) i(_l)*:(:;f—])u:
0 L 3Ix L 2 e
0 Lx4 3| lsas| Caeyz (0P
=0
Bso{b)‘r n:@ n2 n=0
Conee,
?ﬂ r
r=2
2
21|Page i(_hﬂ

ﬁbsalu{’c (dndtfjcnff RN Z -:;,_ P"9‘> |



— L x 2l =@ Takwal gim\ﬁi’“:{) ‘[:}.n“\d(:ﬂn]
n=oo| tn [ Newv | (YD
CEX
Al Kb b
Xt -\ .15 {nr
“dl" .ldJ
c:on:;;ﬁ, X=-1 I condhtioan! oawryea e HC Lhe qf,rrcs/
§ -0 al feraales and Yhe ala;olvlt valve 4
2 appronch 0. 7 0
Abssloke Coneerges n=o Y0 R ks Mosolvk Jlu
< SUi I W Pra
(dnd tional (anergene %ﬂ(ﬁ = P“Ei Amges
Y\"-'-"’l 13) i;i:. 2n

22|Page



2015 AP Calculus BC Free Response

6. The Maclaurin Series for a function f is given by

e ¢ an-l n—1
-3 2 3 -3
Z"—)x” =xr- %.\" +3x -+ LI" + -
n L
n=1
and converges to f{x) for |x]< R, where R is the radius of convergence of
the Maclaurin series.
a) Use the Ratio Test to find R.

20. What are all values of x for which the series Z (#-2)

n=|

converges?

(A) -3=x=<3 (B)-3<x<3 (O) -1<x=5 (D)-1=x<5 (E)-1=x<]
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